I {EHETI (Fo)

R 10N | 100N | 500N | 1000N | 5000N | 10000N | 15000N | 20000N
AUM AUM
" | 123456 L
I Fcn=3.0N-2340N
%[ Awm
S ' o G 7z aNs:
1 f Fpk=22.3N-2986.3N

Fpk=11.9N-16200N
1,2,3,4,5

3 ACR Ten = 24.3Nm ~ 460.7Nm
_— = ~
S— 240,335,820,1525 - Tpk = 72.8Nm ~ 1382.2Nm

AJM Fcn=68.1N-446.8N
30,50,80,100 - Fpk=214.7N-1409.1N
% | aam
/ 8,24,30,50,80 Fpk=49.7N-994 4N
AKM
o G FiateN 2ok
‘s Fpk=241.6N-12884.3N

30,50,100,150,200

EIMRENEIZT, AL SREiERI RS EME SN S:

o ZENFEEH
o BMERTILAE, th el AR, BT ) TTHE 5 m) 8 e £ 4 Y AR 45

o NESH#H, BIRRE, B EMNEMIRIT, ol IRAZ N KB SR/ FHEE
FAERER SIS AR BHEE T2 (cust-service@akribis-sys.cn) I
ZJN\

AT THZNATFBEFRFFERIE. KFHREN R MHISIRE. PCB. TR B/ 8s. B AL, LED. ENFI IR, S50 T
HUER RZE B F B3 DRI L F M EM BT F1T 0k,

> BESRA

> TEIERR

> BFEA

> AT/, BEYER
> SELNSIREN

swialshs sIqLyY

027



AUM &%

EBHLATE D)

AUMRTIEL&BAERT R R ARG E R B, TEHR/IMETRIR

FRENHEN, AENEERSHMNS.

#4545 Fen =3N ~ 2340N
I&{&E#H Fpk=11.9N ~ 16200N

EAT R B R RCRRA R RIE
ARG 58/ EE
ERIET R & S MZE R A

REL, 7]

AHESM/sEEFT SR

D)

>
>
> E

RE, ITEARR, &/K&
8 5B ERIE KA & SR A KRt IS KR R EAR, £V ETIRE. T ETRINL BN TERESESHE

TEREEAR, TEEA p SEHNEHK
SRS NNIEED b HWISEEr, BTSSR
EHIN R LR b P ZBHUERILIKLENE

EEREhEZI TR, FEE DS,
TE AL H ER MBS

me BEKE o FHEWSI(Fen)/  WEMEHETI(For) @ @ N
(mm) 10 50 100 500 1000 1500 2000
AUM1-S1 22 3.0/ -11.9
AUM1-S2 43 +6.0/23.8
@% AUM1-S3 64 *89/ 357
19.0 AUM1-S4 85 <119/ 476
AUM1-S5 106 ©149/ 595
AUM2-S1 31 «glg/ 44
4 AUM2-S2 61 <176/ 88
@3 AUM2-S3 91 ©26.4/ 132
220 AUM2-S4 121 352/ 176
AUM2-S8 241 +70.4/ 352
AUM3-S1 61 028/ 144
AUM3-S2 121 *57/ 289
& AUM3-S3 181 85/ 433
355 AUM3-S4 241 +113/ 578
AUM3-S6 361 +170 /- 867
AUMA4-S1 61 55/ 312
AUMA4-S2 121 <110/ 624
" AUMA4-S3 181 166/ 936
2 AUM4-54 241 0221/ 1248
390 AUM4-S5 301 276 /| 1560
AUMA4-S6 361 331/ 1872
AUM4-S8 481 442/ 2496
AUMS5-S1 85 981707
AUMS5-S2 169 197/ 1415
AUMS5-S3 253 295/ 2112
AUMS5-S4 337 *393 /2830
E AUMS5-S5 421 »491/ 3537
AUMS5-S6 505 *500 /- 4244
=0 AUMS5-S8-V107 | 673 +786 /5659
AUM5-S9-v80 | 757 *884 /6367
AUM5-S10V107| 841 4983/ 7078
AUMS5-S12-V107| 1009 <1179/ 8489
1 | AumeP5-s4 337 780/ 5400
AUM6-P8-S6 505 <1170/ 8100
g AUM6-P5-S8 673 1560/ 10800
“ AUM6-P8-59 757 1755/ 12150
AUM6-P7-510 | 841 <1950 / 13500
645 AUM6-P8-512 | 1009 * 2340/ 16200

@ AUMIRFIATRHERCREBNAEKE,

029 O BN ARLNER TUSHRE, LKL NIRERNEIESENRRAS IR,

AUM1

AUM Z75|

AUM1-S1 | AUM1-S2 | AUM1-S3 | AUM1-S4 | AUM1-S5
EEESE 55 | T S EES ERBX ES
F4EEHE S (8)%) @100°CO Fen N 3.0 6.0 8.9 11.9 14.9
(B Fok N 11.9 23.8 35.7 47.6 59.5 ’:
DEE £10% Kf N/Arms 1.75 3.50 5.25 7.00 8.75 an
REBFHEH £10% Ke Vpeak/(m/s) 14 2.9 4.3 5.7 7.1 élyjlz
B E$@25°C Km N/Sqrt(w) 14 19 24 2.8 3.1
fEiE BB fE@25°C £10%@ Ras Q 111 2.18 3.18 4.18 5.18
EREEEZ L mH 0.15 0.30 0.44 0.59 0.72 ﬁIE
BB S (8] K Te ms 0.14 0.14 0.14 0.14 0.14 %
FE4R R (B)4) @100°C® len Arms 17 1.7 1.7 1.7 1.7 E
EIEER Ipk Arms 6.8 6.8 6.8 6.8 6.8 -
AT (B2) @100°CO Pen w 6.20 12.18 17.77 23.32 28.94
=& ERE tmax °C 100 100 100 100 100 'ﬁ'
PR EH(B2)? Kthn W/°C 0.1 02 02 03 0.4 X
Ea84 5]
REFEEE Ubus Vdc 330 330 330 330 330 =
CAEE] T mm 21.0 21.0 21.0 21.0 21.0
[rER A Fa KN 0 0 0 0 0
RS %
“ZERE (B2) Mcn kg 0.03 0.05 0.08 0.10 0.13 ;%
SZEKE (B)%) Len mm 22.0 43.0 64.0 85.0 106.0 #
HEN R B (oK) Mtrack|  kg/m 2.37 2.37 2.37 2.37 2.37
EfbfER =
BEEFR B4 (130°C) B
Vit iak- 24 1PO0 )
HEEFTE RoHS, CE L
B I{ERE 0°C Z 40°C (F487K)
ERURE -15°C ZE 70°C (F£&K) +
2 T{ERE HERHEE10% E 80% (EI4H) s
RIERE
PREE TR TEH R 10%E 90% (B4 5 ;ﬁ
ENR (EMEES);
TEIRLR
RHETERR FTBra Sk BRSECHE L
ONEFEISC, AT R, %
O BIEMERAEAET, S05KIREEL. ]
© BRNENE1IkHz, AUMRTIBRFNTERARNTA0%REANZBLERR, #MTERENRAESRMENTHE, WTFES—H8E, FHTENT20%, 1:
REBRARIE LT, RASTE, =
&
Tf)
m RTE ﬁ
AL E N
- 473
MRS ZEKE E A -
) AUM1-S1 22.0 4 12.0
] Coil Length 15.0 AUML-S2 4.0 6 165
E -Mounting Holes,
M2.5X0.45 Dep 5.0. A 50 AUM1-S3 64.0 8 18.0
[~ . Hall Module
| Pitch (Optional) AUM1-S4 85.0 8 25.0
—F o o o ~ AUM1-S5 106.0 8 320
e 2 -—
g & N .-
High-Flex
—re RO o Hall SensorCable 3.8
4 Min. Bend mg Radius =38.0
High-Flex (Refer to Cable Wiring Diagram for detail)
Min. B cl/'l ek Cda'ble %l'(l)
ini in. Bending Radius =41, 19.0 19.0
Comobl;mg Tracks (Refer to Cable Wiring Diag§am for detail)
Clearance _‘_5_ a @ 2 @l g
[ L_ -1 ~ S N =
o o
| 09 ] (o 5
AirGap < 2| AirGa < 3
,,,,, g J Tk I g €
N ()
AN
42.0 210 |20.85%0.1| 1 [ 190 | 19.0
Pitch ™ it i l
Track L h ithout
rack Lengt Hall Module Hall Module
Option Option
G -Mounting Holes, @3.5 thru'
C'bore@6.0 Dep 3.2 Both sides .
H -Mounting Holes, M3X 0.5 Dep 6.0
(%]
21.0 21.0 13.85+0.1 €
Pitch | e 2
\ Bl b Z
< o o o 4/ o o — HEES HMKE G H "
AUM1-TL63 62.7 2 3 o
pd =
AUM1-TL84 83.7 3 4 f(
AUM1-TL105 104.7 4 5
030



AUM &%

W J7-BRR phik

f:h:
= FEHZE-AUML-S] R
S B LAE 48V
Vol 14
=}
12 .
__ 10 .
N = N =
3N \ B
E 4 kY
ES 5
0 A
iy 0 5 10 15 20 25 30 35 40 45
= EEE (m/s)
Uy 4 1§87
a]
=l
B
% FrRehLE-AUML-S4 SREEEE
£ EREBEBE : 48V
l 2 <
40
35 -
= Z 30 =z
R %g \\\ R
B 15
i 10
5 NS
0 0 2 4 6 8\ 10
Va} EE (m/s)
% Bh -]
Eg
il
%
I
qz
pAN
[=]
i)
=
2
T N
|
o JTFR M
41 _—m
=}
2
I
B3 '
AUML :
SeefiEA:
SEEEK .. !
R~
JS1/S2/S3/SA/SS. .. !
O NH=ERBERERBLHITE)
© HF=MEEREBE, BRBSAHBE
© FB=THHEIT
@ NFB=FHHHIR
=)
P
=.
o
=3
w
<
w
~+
(]
3
w
031

70
60
50
40
30
20
10

JIE#LZE-AUML-S2 SREREE
BERBERE: 48V

10 15 20
HE (m/s)
4 ----&fE
FIERERLE-AUM1-S5 BREBEE X
BERS%EE 48V
0 1 2 3 4 5 6 8
HEE (m/s)
is 29l ----&fEH

NFRELE-AUML-S3 BRELEE
BERBLARE 48V

40
EEIl e R -
30
25
20
15
10
5
0
0 2 4 6 8
HEE (m/s)
BN ----I&EAH
7328 viAH
FB/ NFB
BAKE (m):
0.5/3.0
%%ﬁ@ﬂ&tﬂéﬁ%?gﬂ:
NH / HF

AN :

12

AUM2

AUM2-S1 AUM2-S2 | AUM2-S3 AUM2-S4 AUM2-S8
ERESER "/ L] BEX REX | FFEX | BREX | HEX | BREX | EX | SREX | HEX
FEHE S (B)2) @100°CO Fen N 8.8 176 | 176 26.4 26.6 352 | 352 | 704 70.4
IE{EHES Fok N 440 880 | 880 | 1320 | 1328 | 1760 | 176.0 | 3520 | 3520
FEE £10% K N/Arms 5.5 11.0 5.5 16.5 83 22.0 11.0 44.0 22.0
REEAEEH £10% Ke Vpeak/(m/s) 4.5 9.0 4.5 135 6.8 18.0 9.0 35.9 18.0
B EH@25°C Km N/Sqrt(w) 2.5 3.6 3.4 44 45 5.0 4.9 71 71
+HiE EBE@25°C +10%@ Ras Q 3.15 6.30 1.79 9.57 226 | 1282 | 335 | 25.82 6.32
BB +40%© L mH 1.04 196 | 0.51 2,94 0.73 388 | 097 | 7.83 1.96
ERIEEE Te ms 033 031 | 029 031 032 030 | 029 | 030 0.31
B (8)2) @100°C® len Arms 16 1.6 3.2 16 3.2 16 3.2 16 3.2
EIECR Ipk Arms 8.0 8.0 16.0 8.0 16.0 80 | 16.0 8.0 16.0
FrEAE(B%) @100°CO Pen w 15.6 312 | 354 | 474 | 447 | 635 | 664 | 127.8 | 1251
=EEAERE tmax °C 100 100 100 100 100 100 100 100 100
HFERER(E2)O Kthn w/°C 0.2 0.4 0.5 0.6 0.6 0.8 0.9 17 17
RESEEE Ubus vde 330 330 330 330 330 330 | 330 330 330
AL Tun mm 30.0 30.0 30.0 30.0 30.0 300 | 300 30.0 30.0
(Aol Fa kN 0 0 0 0 0 0 0 0 0
S
ZERE (B7) Men kg 0.06 0.12 0.12 0.18 0.18 024 | 024 | 047 0.47
ZEKE (B7) Len mm 31.0 610 | 610 91.0 910 | 121.0 | 121.0 | 2410 | 2410
[ERRE(EX) Mtrack kg/m 3.90 3.90 | 3.90 3.90 3.90 3.90 | 390 | 3.90 3.90
Hittz8
BEFR B 484 (130°C)
BrPER 1P00
TEE T RoHS, CE
FERE IfERE 0°C Z 40°C (F457k)
TERURE -15°C & 70°C (FE4Ek)
TSR IfERE HRAHERE10% ZE 80% (B4 8)
TR AEXHEE10%ZE 90% (T4 %)
" ER (EREXES);
T ESE BRIECAZIH L

ONEER5°C, BATHIAKE,
O BIENERAERERN, S0.5KITAELLS.

O FRENEINE1IKHZ, AUMRTIRETENTEIAN L40%REANARLETRE, #MTERENRAESHMENTIYE, WFS—88R, FaEENT20%.

EXSBIMENELE, BRSBITE.

u R~TE

High-Flex

Motor Cables @6.0 & @3.8
Min. Bendlng Radius =6
(Refer to Cabl

300 __ 300 _ 50.5
E -Mounting Holes 38.0
M3 0.5 Dep 7.0 28.0
of of [ '+ [T %% o
—| © 1 | —
ER N -
=4 | 4 | 4 <4 <4 s B - 4
61.0(52) ] = | 20129 \_ )
~ E -Mounting
91.0 (S3) 31.0(S1)|  M3X0.5Dep
121.0 (S4)
F-Mounting Holes .
M3X0.5Dep 5.0 F -Mounting Holes
30.0 30.0 5 M3X0.5Dep 5.0

Combining Tracks
0.3

2L ‘
CIeml' |+

‘ ‘ \‘—’.33'0‘A 10.5 gL
+ |-¢- + % i F+ <+

14.0 8.5
o

@& | 06 ©

©
@____ -
©
©
@
©
@

60.0 |

/ Track Length

60.0 Pitch ‘29.85i0‘l; ©
! <

0.0
e Wiring Diagram for details)

AUM Z75|

G -Mounting Holes, M4 X 0.7 thru'
C'bore@6.0 Dep 3.2 Both sides

H -Mounting Holes, M5X 0.8 Dep 7.0

60.0 Pitch

29.85+0.15
I —

+

&

_¢_7

B ZRE
WS ZEKE E F
AUM2-S1 31.0 3 2
AUM2-S2 61.0 5 5
AUM2-S3 91.0 7 7
AUM2-S4 121.0 9 9
AUM2-S8 241.0 17 17
Holes
7.0
‘ 21.0‘
% wn

2 —

L g

(0.7) 1 b

Air Gap bl

™
‘ 22.0‘
ER AN

AL S K G H
AUM2-TL120 119.7 2
AUM2-TL180 179.7 3 3
AUM2-TL240 239.7 4 4
AUM2-TL300 299.7 5 5

SBoH

TN
oy

@B | @M | EIEaE | MKk

ity

“

> BT SO N

s
oy

Akribis systems

032



SEIH

[N
o4

S 2 I

S | SESSm [tk

ot

> EFAN FO-H IS

AN
03—

swialshs sIquyY

033

AUM

VAR

25

ii:E54

TIRERL-AUM2-S1 SREX IR
ERSLRE 310V

73(N)

140

10 20 30 40 50 60 70
RE (m/s)
BN ---- {85

FIRELE-AUM2-S3 SRECHEE
BEREHARE 310V

120
100

R 60
40
20

5 10 15 20

25

5 10 15 20 25 30 35
HE (m/s)
¥EH . 1%

1T g FE N

£

HEEN

S

SRABIRE:
S=eBE | P=3EX

P A N

R~

S1/S2/S3/S4/S8

B e B .

O NH=ERBEREHBL

@ HF=REERERE, BREBLALZIHR WL (1TE)

© FB=THHEIR
O NFB=FRHHLF

TIEBLE-AUM2-S2 SREREE
BERS&BE 310V
100
100
90 N 90
80 S 80
70 AN 70
Zz 60 5 = 60
50 A €50
R LS R0
x .
\ 20
10 10
0 \ 0
0 10 20 30 40
EE (m/s)
— g - 1&EA
TIRERL-AUM2-S3 HEEE
BERGLRE: 310V
140 200
| 180
120 \ 160
100 __140
= A Z120
80 \
£ \ R 100
R 60 80
40 60
20 ‘2‘8
0 A 0
0 5 10 15 20 25 30 35 40 45 50
EE (m/s)
¥EN . 11V
JIRERLE-AUM2-S8 SBEHEX
BEREEBE 310V
400 400
350 femmmm-s = 350
300 Foaers 300
Z 250 Z250
R 200 R 200
150 il 150
100 100
50 50
0 > 0
0 2 10

FIEREALE-AUM2-S2 HERHE A
BEREERE 310V

10 20 30 40 50 60 70
EE (m/s)
----fEH

TIERERLE-AUM2-S4 SREXHEA
BEREERE 310V

8 12 16 20
HE (m/s)
— &R

TR -AUM2-S8 HELHE X
BERS%BE 310V

TR

FE/NFE”

BAKE (m):
05/3.0

_____________ Y.

BRI R AR E:

TR
K=PT100(RTD)

.........................................

’a

AUM3

AUM3-S1 AUM3-S2 AUM3-S3 AUM3-S4 AUM3-S6
HEESEK ®/S | B BREX REE | FFEE | BREX | FPEX | EREX | HEX | EREX | HEX
FE#(82) @100°CO Fen N 28 57 57 85 85 113 113 170 170
BEmA(24) @100°C® Fea N 34 68 68 102 102 136 136 203 203
B (K4) @100°CY Few N 37 73 73 110 110 147 147 220 220
& B Fok N 144 289 289 433 433 578 578 867 867
FEE £10% K N/Arms 15.7 314 15.7 47.1 23.6 62.8 314 94.2 47.1
REHEH £10% Ke  Vpeak/(m/s) 12.8 25.6 12.8 385 19.2 513 25.6 76.9 385
BHEHR@25°C Km | N/Sqrt(w) 5.8 8.4 8.0 103 9.9 119 116 13.9 14.7
8B B @25°C £10%°@ Ras Q 4.95 9.22 2.57 | 13.92 3.74 | 1862 4.92 30.42 6.87
BB £40%° L mH 3.13 6.26 157 9.53 238 | 12.90 3.36 19.50 4.70
ST E) E Te ms 0.63 0.68 0.61 0.68 0.64 0.69 0.68 0.64 0.68
FEER(A4) @100°CY len Arms 18 1.8 3.6 18 36 1.8 36 1.8 36
FER(S4) @100°CO lca Arms 22 22 43 22 43 22 43 22 43
RS (2K 2) @100°CO lw Arms 23 23 47 23 47 23 47 23 47
[E3EGER Ipk Arms 9.2 9.2 184 9.2 18.4 9.2 18.4 9.2 184
BERNE(E%) @100°C® Pen w 31.0 57.8 64.3 87.2 936 | 1166 | 1233 190.5 | 1722
WE(S%) @100°CP Pa w 446 832 92.6 | 1256 | 1348 | 1680 | 177.6 | 2744 | 247.9
ARINE (KR) @100°CO Pow w 524 97.6 | 1087 | 1474 | 1582 | 197.1 | 2084 | 3220 | 2910
BERSEERE tmax °c 100 100 100 100 100 100 100 100 100
HIEHE(BA)® Kthn w/°C 04 0.8 0.9 12 1.2 16 16 25 23
PRERER(T2)? Ktha w/°C 0.6 11 12 17 18 22 24 37 33
HEEREIR(K2)® Kiw | W/°C 0.7 13 14 2.0 2.1 26 2.8 43 39
EEPEBE Ubus Vdc 330 330 330 330 330 330 330 330 330
ERR A HA TN mm 60 60 60 60 60 60 60 60 60
HEIR S Fa kN 0 0 0 0 0 0 0 0 0
RS
ZLEFRE (8)2) Men kg 0.22 0.45 0.45 0.68 0.68 0.91 0.91 137 137
ZEKE (B72) Len mm 61.0 121.0 | 121.0 | 181.0 | 181.0 | 241.0 | 241.0 3610 | 361.0
ZEKE (KR) Lea mm 61.0 121.0 | 121.0 | 1810 | 181.0 | 2410 | 2410 3610 | 361.0
KEKE (K2) Lew mm 61.0 121.0 | 121.0 | 181.0 | 1810 | 241.0 | 2410 361.0 | 3610
WA R R (K) Mirack|  kg/m 8.33 8.33 8.33 8.33 8.33 8.33 8.33 8.33 8.33
Hifs8
BHER BB 44 (130°C)
BriFER 1P00
T EEPRMTE RoHS, CE
FERE TEREE 0°C Z 40°C (F457k)
TERERE ~15°C Z 70°C (E487K)
N TERE HAHREEL0% 2 80% (o4 58
FEE
T R TEXTREL0%E 90% (LA H)
=R (B ES);
378:-]
RETIERR EE RS BRSECHERHE
OWEBERSC, AT HAITH,
D EFNERABERER, 20.5K0EL,
© BRENEINE1IKHz, AUMRFBRFEEERAN L40%REAN=AABERRE, FMTERENRAESTRMENTIIE, WFES—EER, FieHEN+20%.
MAXBHMEME TS, BABITEH.
m RTE -
LB
wnEs® |  gEKE E
E -Mounting Holes\ Coil Length AUM3-S1 61.0 3
M4X0.7 Dep12.0 S " " AUM3-S2 121.0 7
e g[ AUM3-S3 181.0 11
ol N
= o 2 2 o Standard Air Cooled Water Cooled AUM3-54 241.0 15
‘ 30.0 LM_L_. Motor Coil Motor Coil Motor Coil AUM3-S6 361.0 23
Pitch 15.5 High-Flex Air Input Port Water Ports - .
Motor Cables 96.0 & @3.8 M5X0.8 Dep10.0 M5 0.8 Dep10.0 @ For air or water cooled models, Coil Length and E are
Min. Bending Radius =60.0 o 35.0 o \3540 the same as the standard model.
Combining Tracks (Refer to Cable Wiring Diagram for Details) 35.0 ; <,;1 1 v-] \l\%?
0.5 ‘ I L] © * o 0 ]9
Clearance q - i dsi— oﬁ;’
(0'9) =I 0| ﬂ =<} j—°| =] -&l
o EE R ER
© 0 © 00 06 006 606 :L
60. / Pitch 60.0./29.75:40.1 355 355 355
Track Length
G -Mountingngolﬁs, [ FELBEH
M5X0.8 thru' = <
C'bore@7.5 Dep6.35 _H -Mounting Holes WIS MK G H
0 Both sides- M5 0.8 Dep8.0 AUM3-TL120 119.5 2 9
. Pitch 60.0 22.25+0.1
5 | | AUM3-TL180 179.5 3 3
I I
T T - 4
o 0/ & ® AUM3-TL240 239.5 4
AUM3-TL300 299.5 5 5
AUM3-TL600 599.5 10 10

AUM Z75|

SBoH

TN
oy

@B | @M | EIEaE | MKk

ity

“

> BT SO N

s
oy

Akribis systems

034



AUM &%

=B0H

[N
o4

S 2 I

S | SESSm [tk

=t

> EFAN FO-H IS

AN
03—

swialshs sIquyY

035

W )-SR phik

AUM3g BSES33

FIREL-AUM3-S2 BB
BEREEBE 310V

2 4 6 8 10 12 14
EE (m/s)
#ah ----I&EH
TEELE-AUM3-S3  HEIEE
BEREEBE: 310V
0 2 4 6 8 10 12 14 16 18
EE (m/s)
il ----IBESH
JIEEILL-AUM3-S6  FERIEE
BRE%EE 310V
2 4 6 8 10
EE (m/s)
&N ----&EH

K3HFR0.58F B

TR -AUM3-S1 BB R
i =
160 BERESEBE 310V 350
140 \ 300
_ lgg 250
=z 1 \ =
z \ Z 200
R 8 \ z
60 R 150
40 \ 100
20 50
0 A 0
0 5 10 15 20 25
HE (m/s)
B8N . 1=
JIRBRLE-AUM3-S3  BREREEE
EEEIE 1 310V
500 500
450 | 450
400 400
— 350 — 350
Z 300 Z 300
R 250 R 250
200 200
150 150
100 100
50 50
0 S 0
0 2 4 6 8 10
HE (m/s)
B8N . 1=
TIRES-AUM3-S4  FHBREE
700 ERSEBE: 310V 1000
900
600 | ~ 800
500 700
Z 400 AN Z 600
. 500
R 300 R 200
200 300
N, 200
100 100
0 s 0
0 6 0 12 14
EE (m/s)
éi
|
Bs :
AMZ :
7R EEI:
L (ER=ER /AR WS
SRR
S=EER/PREX . !
R
51/52/53/54/56

HEE

O NH=EREEREBBEL

@ HF=AE TR, BIRBLAL
© FB=HHIR

@ NFB=TR#5HIR

2k (TR)

JIEEIZ-AUM3-S2  FHEEE

350 BERLRE 310V
300
250
E 200
150
100
50
0 ‘\
0 4 8 12 16 20 24 28
HE (m/s)
BEN . 11V
JIEBRLE-AUM3-S4  BREXEE
BRES%BE 330V
700
600 | |
500 s
= 400
R 300
200
100
0 Y
0
RE (m/s)
FEN ----&EA
TR
a2l FEINFE
BAKE (m):
o ___________.05/30,
TR R R &SR
,.“T’%u

BN

AUM4

AUM Z75|

AUM4-S1| AUM4-S2 | AUM4-S3 | AUM4-S4 |AUM4-S5 | AUM4-S6 | AUMA4-S8
HaES K /S B EREX BREX | FEX | EREX | EX | SBEX | HEX FEE FEX FEX
51 (8%) @100°C® Fen N 55 110 | 110 166 | 166 | 221 | 221 276 331 442
BEHAH(S%) @100°C? Fea N 66 132 | 132 199 | 199 | 265 | 265 331 397 530
B4 S (k%) @100°CO Few N 7] 144 | 144 215 | 215 287 | 287 359 431 574
[E3EEEal Fok N 312 624 624 936 936 | 1248 | 1248 1560 1872 2496
NEHR £10% Kt N/Arms 24.0 480 | 240 | 720| 360 | 960 | 480 60.0 72.0 96.0
RERESH +10% Ke  |Vpeak/(m/s) 19.6 392 | 196 | 588| 204 784 392 49.0 58.8 78.4
Bl EHR@25°C Km N/Sqrt(w) 9.3 130 | 127 | 159 | 157 | 184 | 186 208 222 26.1
ABIEEEPE@25°C £10%2 Ras Q 4.42 9.02 | 237 | 13.62| 3.52| 1822 | 4.42 5.57 6.99 9.02
HRiE Rk £40%© L mH 3.50 7.00 | 1.82 | 1050 | 2.65| 14.00 | 3.48 4.38 5.25 7.00
EE ST [E) 5 Te ms 0.79 078 | 077 | 077| 075 077| 079 0.79 0.75 0.78
FEHBR(E4) @100°CO len Arms 2.3 23 4.6 23 4.6 23 4.6 4.6 46 4.6
PR (S4) @100°CO lca Arms 2.8 2.8 55 2.8 55 2.8 55 5.5 5.5 5.5
FHERBR(KZ) @100°CO lew Arms 3.0 3.0 6.0 3.0 6.0 3.0 6.0 6.0 6.0 6.0
B R 7E Ipk Arms 13.0 130 | 260 | 130| 260| 130| 260 26.0 26.0 26.0
FHEAIIE(B4) @100°CO Pen w 45 92 97 139 | 144 | 186 | 181 228 286 369
FERAHERAS) @100°CO Ra w 65 133 | 139 201| 207 | 268| 260 328 412 531
FHERATHE(/K2) @100°C® Pew w 76 156 | 164 235 | 243 | 315| 306 385 483 624
RELAERE tmax °c 100 100 | 100 100 | 100 | 100 | 100 100 100 100
PREHERER)? Kthn w/°C 06 12 13 19 19 25 2.4 3.0 3.8 4.9
HREHER(RA)? Ktha w/°C 0.9 1.8 1.9 2.7 2.8 3.6 3.5 4.4 5.5 7.1
PRSI (K 4)® Kihw w/°C 1.0 21 22 3.1 32 42 4.1 5.1 6.4 8.3
REBERE Ubus vdc 330 330 | 330 | 330 | 330 | 330| 330 330 330 330
XAk TN mm 60 60 60 60 60 60 60 60 60 60
W77 Fa kN 0 0 0 0 0 0 0 0 0 0
WS
SERE (5,9) Mcn kg 0.28 056 | 056 | 08| 08| 119| 119 1.49 1.78 237
ZEKE (B3) Len mm 61.0 121.0 | 121.0 | 181.0 | 181.0 | 241.0 | 241.0 301.0 361.0 481.0
ZEKE (5R) Lea mm 61.0 121.0 | 121.0 | 181.0 | 181.0 | 241.0 | 241.0 301.0 361.0 481.0
ZEKE (K2) Lew mm 61.0 121.0 | 121.0 | 181.0 | 181.0 | 241.0 | 241.0 301.0 361.0 481.0
HWHRE(EXK) Mtrack|  kg/m 14.75 1475 | 1475 | 1475 | 1475 | 14.75 | 14.75 14.75 14.75 14.75
HitES
BHEER B 44 (130°C)
Vit 24 1P0O
FAERLE RoHS, CE
R I{ERE 0°C Z 40°C (F457K)
TR -15°C Z 70°C (F£EK)
—— IIERE HAHREE10% 2 80% (B4 68)
R RE TTRREL0%E 90% B4 )
N ZM (CIYES);
BETIERR EE RS SRS CHE L
OMEEFR25°C, BURTHAIFE,
O EFNERAERBER, 20.5K0ELS,
© BRNEINELIKHZ, AUMRFBREFEEERAN L40%REA=AARERRE, #MTEREANRAESRIMENTIIE, WTFS—HERK, FieEHN+20%.
MAXBEMEME T, BABITE.
B L
m RTE wHRs®|  gEKE E
AUM4-S1 61.0 3
T s Coil Length AUM4-S2 1210 7
O\ AUM4-S3 181.0 11
o o o
ggl AUMA4-S4 241.0 15
mmﬁ S s o o Standard Air Cooled Water Cooled AUM4-S5 301.0 19
Motor Coil Motor Coil Motor Coil
|.30.0|_30.0]___15.5 E— Water Ports AUM4-S6 361.0 11
Pitch ™ High-Flex Air Input Port 5% 0.8 Deplo.
Motor Cahles @6.0 & 33.8 \M5x0.8 Dep10.0 AUM4-S8 481.0 17
in. Bending Radius =60.0 0 385 385
(Refer to Cable Wiring Diagram for Details) 38.5_«© < 19.25i0.£ 16,( / @ For air or water cooled models, Coil Length and E are
Comblnlng Tracks —l 9 ‘ \[’—‘7 \ \ the same as the standard model.
0.5Clearance 1 =3 ] ro g AAUM4-S6 Motor Coil Series & above will use 60mm
E 9 { f 3 & | S 8' pitch for E-Mounting Holes.
BE= 13 BE=
(1.2) T‘ ~ E ~ ﬂ ~ -I;l
Air Gap J S @ g & S &
~ o ~| ~
PO | ©W0B® GO @@@ © 0® '
\ 60. Pitch 60.0) 9.75_':(?’ 39.0 39.0 39.0
G- Mountmg I;Iﬁles Track Length BRI RE R
ru
Coored eSS ik ey WOLS | mMKE | G H
/ Pitch 60.0%9__.75:0.1 AUMA4-TL120 1195 2 2
- / } 1 ;I AUMA4-TL180 179.5 3 3
o) ol o) 6 —71= AUM4-TL240 239.5 4 4
AUM4-TL300 299.5 5 5
AUM4-TL600 599.5 10 10

SBoH

TN
oy

@B | @M | EIEaE | MKk

ity

“

> BT SO N

s
oy

Akribis systems

036



AUM &%

W )-SR phak

f:i
R TIRERLE-AUMA-S1  BEHEE
S ERBLBE 310V
) 350
- 300
250
% = 200
A 150
E:d 100
ES 50
0 \
i 0o 2 6 8 12 16
w EEE (m/s)
\Jr.l BEN ----BESH
18
il
B FIRERLE-AUMA-S3 BB
3 BERSLBE 310V
g 1000
g 900 [~==m=mes
# 800
700
Z 600 S
- R 500
= 400 S
300
200
100 =
#l 0
0 2 4 6
EE (m/s)
bal B8N ----&EH
bil
2]
il
% FIREL-AUMA-S4  FHEERES
] Sy '
b 1400 BE%EE 310V
a P
?19 1000
% Z 800
= 600
] 400
i 200
A 0 hS
0 2 4 6 10
EEE (m/s)
RN ----&EAH
TIRERLE-AUMA-S8  FHEHEE
BRE%EE 310V
3000
2500 |-«
2000 N
£
R 1500
1000 e
500 e
0 sy
0 1 2 3 5
pid /s)
RN ----&EA
>
=
3.
o
=3
w
<
w
~+
®
3
w
037

700
600
500

Z 400

R 300
200
100

1800
1600
1400

~ 1200

Z 1000

R 800

600
400
200

0 2

JIEHLL-AUMA-S2  BREEE
BEREERE 310V

4 6 8
HE (m/s)
BEN ----I&EH

JIREIZ-AUMA-S3  HEBEE
BRE%BEE 310V

6
HEE (m/s)
— 5N ----BEH

FIREALE-AUMA-S5  FHEEE
BRGLRE 310V

4
RE (m/s)
iS22l ---- i {EH

700
600
500

Z 400

R 300
200
100

1400
1200
1000

Z 800

R 600

0 2

FTIEELE-AUMA-S2  HEIEE
BERSGLRE 310V

6 8 10 12
HE (m/s)
BN ----I&EH

JIEHLL-AUMA-S4  BERIEE
BRS%EE 310V

FIREALE-AUMA-S6  FHEEE
BERERE: 310V

4
HE (m/s)
iSZ 9l ---- i {EH

TT g FE

575

B3

B

SreBiEIR:

S=EREX / P=3EX

R~

S2/S3/S4/S6

O NH=FER B E/RIERBL(ITH)
@ HF=NEERERE, B/RE

© FB=THiIF
@ NFB=THIIR

AUMA43 ESES3E

Ky

AUM Z75|

HF30.58FB

WEIRSRTI:

RSN

JEIRIEF R (FEECE) / K=PT100(RTD)

BN

...............................

SBoH

TN
oy

@B | @M | EIEaE | MKk

ity

“

> BT SO N

s
oy

Akribis systems

038



>EO0 ]

[INpS
04—,

S 2 I

eIt

[

SZ@EN | SN

ot

IS FRFEH SO -HIN

swialshs sIquyY

AUM %%
AUM5S

AUM5-S8 | AUM5-S9 |AUM5-S10 (AUM5-S12
AUM5-S1| AUMS5-S2 AUMS5-S3 AUM5-S4 | AUM5-S5 | AUM5-S6 V107 V80 V107 V107
HRESE "s B REX BREX | FPEX | EREX | HEX | BREX | FEX FEX FEE P5 P7 P5 P5
FEEHN(B2) @100°CO  |Fy N 98 197 | 197 295 295 | 393 393 491 590 786 884 983 1179
B N(S8) @100°C®  [Fa N 118 236 | 236 354 354 | 472 472 590 707 B
FEHN(KR) @100°CO | Few N 128 255 | 255 383 383 | 511 511 639 766 - - - -
IE&{EHE S Fok N 707 1415 | 1415 2122 2122 | 2830 2830 3537 4244 5659 6367 7078 8489
HEE £10% Kt N/Arms 39.3 786 | 393 | 1179 59.0 | 1572 | 786 98.3 117.9 78.6 117.9 983 117.9
REBIER +10% Ke |vpeak/(m/s)| 321 642 | 321 | 963 481 | 1284 | 642 80.2 9.3 64.2 9.3 80.3 96.3
Bl E#@25°C Km N/Sqrt(w) 16.0 224 | 219 27.8 211 | 315 32,0 35.6 38.9 46.3 48.0 51.3 55.8
t2iEEBA@25°C +10%2 Ras Q 4.02 822 | 215 | 12.02 3.15 | 16.62 4.02 5.07 6.12 1.92 4.02 2.45 297
ABIE R £40%© L mH 6.50 13.00 | 325 | 1897 473 | 26.00 6.25 8.13 9.75 3.25 6.50 4.06 4.88
BB S AT H 3 Te ms 1.62 158 | 151 1.58 150 | 156 | 155 1.60 1.59 1.69 1.62 1.66 1.64
BEER(EY) @100°C® [l Arms 25 25 5.0 25 5.0 25 5.0 5.0 5.0 10.0 75 10.0 10.0
BERER(S%) @100°C®  |la Arms 3.0 3.0 6.0 3.0 6.0 3.0 6.0 6.0 6.0 -
4 (k4) @100°C® lew Arms 33 33 6.5 33 6.5 33 6.5 6.5 6.5 - - B B
(B 7 Ipk Arms 18.0 180 | 36.0 18.0 36.0 | 18.0 36.0 36.0 36.0 72,0 54.0 72.0 72.0
FEEAIhE (H)%) @100°C® |Rn w 49 99 104 145 152 [ 201 194 245 296 372 437 474 575
FHEHAIHE(S2) @100°CO |Ra w 70 143 [ 149 209 219 [ 289 280 353 426 0 0 0 0
FEEAINE (k%) @100°CO |Rw w 82 168 | 175 245 257 [ 339 328 414 500 0 0 0 0
EE4EaE Tmax °C 100 100 | 100 100 100 | 100 100 100 100 100 100 100 100
mERER(E2)? Kthn w/°C 0.6 13 14 19 2.0 27 26 33 39 5.0 5.8 6.3 7.7
REREHR(S%)? Ktha w/°c 0.9 1.9 2.0 2.8 2.9 3.9 3.7 4.7 5.7 -
PSR (02 Kthw w/°C 11 22 23 33 3.4 45 4.4 5.5 6.7 -
EEl L Ubus vdc 330 330 | 330 330 330 [ 330 330 330 330 330 330 330 330
B FE A TN mm 84 84 84 84 84 84 84 84 84 84 84 84 84
HR S Fa kN 0 0 0 0 0 0 0 0 0 0 0 0 0
WS
SERE (2)9) Men kg 0.73 145 | 145 | 216 216 | 288 | 288 3.60 4.32 5.73 6.53 7.25 8.76
ZBEKE (B72) Len mm 85.0 169.0 | 169.0 | 253.0 | 253.0 | 337.0 | 337.0 421.0 505.0 673.0 757.0 841.0 1009.0
ZBEKE (5%) Lea mm 85.0 169.0 | 169.0 | 253.0 | 253.0 | 337.0 | 337.0 421.0 505.0 -
HEKE (K7) Lew mm 85.0 169.0 | 169.0 | 253.0 | 253.0 | 337.0 | 337.0 421.0 505.0 -
HHRE(EX) Mtrack|  kg/m 35.50 3550 | 3550 | 35.50 | 3550 | 35.50 | 35.50 35.50 35.50 35.50 35.50 35.50 35.50
Hitz 8
BEER BLR484% (130°C)
ik 2)3 1P00
FEEFTE RoHS, CE
FiEEE TERE 0°C Z 40°C (F487K)
fERUREE -15°C Z 70°C (F£Ek)
ISR TIERE ffEi‘Ii:ilﬁlO% E 80% (%)
fERIEE HEXHREL10%ZE 90% (T2 %)
ENR (XX ES);
BETERR FEraiE Sk SMSIECHE L
OMNEEF25°C, BURTFHIIFE,
O BENERBERER, R0.5KITELL,
© BRNEINEIKHz, AUMRFIEBRFEEEIRAN T40%REAA=ABERE, #MTEREASAESR/IMENTIE, WFES—E%K, FahEEN£20%,
AXSEMEME LD, BARBITEH.
=155
uRYE NSO GEKE E
AUM5-S2 169.0 7
E- Mounting Holes Coil Length GONDo3 2530 1
M5x0.8 Dep12.0 ~_ | AUMS5-S4 337.0 15
dor T ° ) 3 AUM5-S5 421.0 19
2 % AUM5-S6 505.0 23
o m— o o o
- St s Miseege | AEPRSEIAL | oo :
igh-Flex Air Input Port Water Ports AUMS5-P7-59-V80 757.0 9
Motor Cables @6.0 & @3.8 M5%0.8 Dep10.0
Min. Bending Radius =60.0 {M5%0.8 Dep10.0 p/ AUM5-P5-510-V107 841.0 10
. (Refer to Cable Wiring Diagram for Details) 49.0 o -24630 - o ﬁg % NG5 S
Co(r)néommg Tracks “’L._A LDL = 1009.0 12
Clearande 2 : A < | T °da _|  © Forair or water cooled models, Coil Length and E are the same
ot of Ny 9 ﬁ: o as the standard model.
S o +l
wol][]]. 2 iE
Air Gap s q =~ o H
S - S - S
40 | 040 0606 0be i | .
| 84l i // | pitch 84.021\_1 5 gl[ 50.0 50.0 50.0
/. Track Length T

4

G -Mounting Holes, M6X 1.0 thru' /
C'bore@9.1 Dep9.0 Both sides

H -Mounting Holes
M6X1.0 Dep15.0

Pitch 84.0 41.75+0.1

<

o

[
[
e}

)

039

)

AN
HWHES HAKE G H
AUMS5-TL168 1675 2
AUMS5-TL252 2515 3 3
AUMS5-TL420 4195 5 5

W -BRR phak

73(N)

2500
2000
Z£1500
R
1000
500

3000
2500

2000

z

= 1500
1000
500

6000
5000
4000

Z 3000
2000
1000

9000
8000
7000

6000

Z 5000

R 4000
3000
2000
1000

FIREALE-AUMS-S1  SREREE
BERBLRBE 310V

6
EE (m/s)

S22 9] ----&fE7

JIRELE-AUMS-S3  EREXHEX
EREEBE 310V

FIREALE-AUMS-S4  FHEEE
BRGLRE 310V

TIEME-AUMS-S8  HERIEE
BEREHERE 310V

JTIEBRL-AUMS-S12 FEEE
BERGL&RE: 310V

1600
1400
1200

= 1000

R 800

600
400
200

2500

2000 |

= 1500
1000
500

4000

FIREIZ-AUMS-S2  EREREEA
BERS&BE 310V

FREELE-AUMS-S3  HEREE
ERESEEE: 310V

FIRERLE-AUMS-S5  FHEEEE
BRGLRE 310V

3500
3000
Z 2500
R 2000
1500
1000
500

AUM Z75|

FIEMLE-AUMS-S2  HEGEE

TMELEEE 310V
1600 ERELEE 310

1400
1200 \
1000 \
R 800
600
400
200

JIEHILL-AUMS-S4  SREEE

e .
3000 BEREERE 310V

2500 |
2000 N
z
R 1500 \

1000

500 “

TIEELL-AUMS-S6  FERIEE

TSR EE
4500 — BERLRE 310V

4000
3500

3000

Z 2500

7000
6000
5000
4000
3000
2000
1000

71 (N)

FIRERLE-AUMS-S9 FHEREE
BEREEBEE: 310V

R 2000 SN

1500
1000
500

TR -AUMS-S10 FE R

800!

ERSL&BE: 310V

700 =mnsmrmnsmnass, .
6000

5000

4000

3000
2000

71 (N)

1001

—B0H

TN
oy

SRS

SEE | SN

ity

B FRFEH SO HIN

Akribis systems

040



AUM &%

1T AR

=B0H

[N
o4

S 2 I

S | SESSm [tk

ot

> EFAN FO-H IS

AN
03—

swialshs sIquyY

041

@ £&E

BN

AUM5E ISES3E

B

SRR
S=EREK | P=3BE

R~

S1/S2/S3/S4/S5/S6

O NH=ERBR/RIEBEL

© HF=MER/RIEHE, BRBLLIRR T 1T4E)
© FB=HHIF

@ NFB=THHIIR

© V80 = RHFHIF AUMS-S8 Al AUM5-S9

® V107 =245 F AUM5-S10 il AUM5-S12

KI

HF20.55F BY

: (548) / V80 V10T,

AT RES:
=RISFEX (I REE) / K=PT100(RTD)

7RSS

AUM6

AUM Z75|

AUM6-P5-S4 | AUM6-P8-S6 | AUM6-P5-S8 | AUM6-P8-S9 | AUM6-P7-S10| AUM6-P8-S12
HEESE s | B P5 P8 P5 P8 P7 P8
FE#(B%) @100°CO Fen N 780 1170 1560 1755 1950 2340
e3¢ Fok N 5400 8100 10800 12150 13500 16200 ?:I
NEH £10% Kt N/Arms 75.0 75.0 150.0 112.5 150.0 150.0 BN
REBEEE +10% Ke |Vpeak/(m/s) 61.2 612 1225 919 1225 1225 27;7
B EH@25°C Km | N/Sqrt(w) 53.3 67.5 72.9 79.9 82.2 90.7
ARIEEEPE@25°C £10%2 Ras Q 132 0.82 2.82 132 222 1.82
HRIBERE £40%© L mH 2.65 177 5.30 2.65 424 3.53 ﬁ%
BB IEE K Te ms 2.00 2.15 1.88 2.00 1.91 1.94 %
FHERBR(BZ) @100°C® len Arms 104 15.6 104 15.6 13.0 15.6 E
[E3EEER Ipk Arms 72.0 108.0 72.0 108.0 90.0 108.0 -
BEMINE(BS) @100°C® [Ra w 276 387 590 622 726 857
RELAERE Emax °C 100 100 100 100 100 100 2
HIERE N (E2)0 Kthn w/°C 37 5.2 7.9 8.3 9.7 114 J'—'\ﬁ
E=848E Ubus vdc 330 330 330 330 330 330 IEDE
BB L E A TN mm 84 84 84 84 84 84
) Fa kN 0 0 0 0 0 0
S %
LERE (B)%) Men kg 4.50 6.75 9.00 10.13 11.25 13.50 B
KEKE (B2) Len mm 337.0 505.0 673.0 757.0 841.0 1009.0 #
R R (5 K) Mtrack|  kg/m 66.67 66.67 66.67 66.67 66.67 66.67
EbfER =
BEER B4R 484k (130°C) =]
PP ER 1P00 B
FRETE RoHS, CE M
B IERE 0°C = 40°C (E45K)
PR R ISCET0°C (BB .
5 TEEL0%E 5
FEEE I1’FZRE tﬁﬁiﬂ?lo% = 80% (%\ LK) L]
TERLEEE TBATEEZ10%E 90% (o4 ) )
N =R (TREN); M
AT TSI PRSI HE R
OMBERSC, ATHATE %
ORENERMERGT, B0SKITELL. ]
O BRNEINEIKHz, AUMRFEBRFEEEIRAN T40%REA=AEERE, #MTEREARAESRIMENTIIE, WFES—EERK, FaheEN+£20%, 1:
AXSEIENE T, BARBITEH. EE/'\J
i
Tf)
T
m R~TE 1
N
4
E -Mounting Holes
M6X 1.0 Dep12.0
/ 253
olof
7
8a.0pitch_| 420 | 215 Mandard,
Motor Cables @9.5 & @5.8
Combining Tracks Min. Bending Radius =114.0 55.0
_0.5Clearance_
K 1 9 4
N ] A
13 (1.35) = -
I<¢ | Air Gap AR S HEKE E
4 ‘ 113 g AUM6-P5-54 3370 5
it Grounding, =20 AUMG-P8-S6 505.0 13
1) 00 / e HOIQL 3 AUMS-P5-58
S)300 ] M4X0.7 Delp 8.0 : -P5- 673.0 17
o+ 0 F¥ P + |7 [
g( @.@ He—O6 5 AUM6-P8-59 757.0 19
H 610 Pitch 84.0 ’ azs| | 645 AUM6-P7-510 841.0 21
Track Length AUM6-P8-S12 1009.0 25
G -Mounting Holes, @ 16.0 THRU ALL
C'Bore @ 16.0 Dep11.0 Both Sides
H -Mounting Holes M8 1.25 Dep30.0
. 840Pitch_4L75. FOALEEH
i) wn
¢ r | — 3 WMOES | WIKE 6 H
@\
) i i i AUM6-TL168 167.5 2 2 2
AUM6-TL252 2515 3 3 g
’d
AUM6-TL420 419.5 5 5 b
2
2
=
X
<

042



AUM &% AUM &5
AUM1 R 5B E

W J7-BRR phik

REEEBE: 3 e E L E:
7 6000 ’ 9000 ERSABE: 310V 12000 A
N e “ 8000 frmmmmmmsmmmemmneeaee iR === . m
=] 5000 \\ 7000 \\ 10000 e =]
= 4000 = 6000 = 8000 MOTOR CABLE
¥ R 3000 2500 & 6000 2
7l 2000 3000 4000 PIN | DESCRIPTION| NO FERRITE BEAD FERRITE BEAD 7]
=z 1000 2000 2000 - M1 BROWN YELLOW / GREY =
ES 0 1008 0 - M2 WHITE BLUE / ORANGE =
0 1 2 35(3/) 4 5 6 0 1 2 EF’(3/) 4 5 6 0 0.5 1 e (1,5;) 2 25 3 _ IVE) GREEN RED / GREEN
=h = (m/s E (m/s, E (m/s, vy
o T 4 B BED WD - PE SHIELD SHIELD \ Ferrite Bead 7
2 12
& &
B _ . e . . . =
2% FIEELE-AUMB-PS-SO  HELEH FIREE-AUMG-PT-S10  HEHE. Fi-AUMG-PS-S12 SHERIEE a
?ﬂ BERBLBE 310V B ERE 310V ERELERE: 310V ks
14000 16000 18000 B3
LS 12000 fmmm=mmmmmmme - 14000 f______ - 16000 f======« SN H 0l
10000 12000 14000
= =10000 12000 :ID—)
= Z 8000 N £ .. £ 10000 8 =1
E R R 8000 = 3000 * DEFAULT - FLYING LEADS =]
6000 6000 8000 OPTION - DSUB 9 PINS ( MALE ) Bl
;ﬁ 4000 4000 2000 HALL CABLE ;@
2000 2000 i,
0 o 200(? PIN | DESCRIPTION COLOR
0 1 2 3 4 0 0.5 1 15 2 2.5 3 0 0.5 1 1.5 2 25 3 1 HA GREY
%% . e . . 2 He YELLOW fz%
i 3 HC BLUE Eg
bl 4 5VDC RED o
5 0vDC BLACK
b4 b2
i A ﬂ'] ;n J i
£ LT FRLN J
[=] — =
=) i}
% =
5l 1
a )
22 2]
) EEE— -]
AUM6gPySASKIHFR0.58F B N som |
: S : : M
i 1 1 ' 1 Il Il
1 1 1 N 1 1 1
B i i : | i i i TR l \
=N ' ! ! | ! ' ' I ! | WHITE
amMe oo ; | R - V)i Motor Windings — M2
i ; E i E . Motor
R A B (m): || Power
JPS/PT/P8. ... oo P 0.5/30., | | creen e
' ' ' . — M3
R A TR IR R 2. - T
: ' H
S1/52/53/54/58. . NHT HE” | \/
T T T T e e ' Motor Casing | AW Shield
O NH=FERBRRIEBEL : AT
= IRIERREL ' =B b EE R K=! v
O HE=REERERE, BRBALHE YA (IR R R EE PR e SRR ICm)
© FB=HHEIF
© NFB=TRHHIR
./\. Grey Ha
==\ I [ | vellow
EZZETL Hall Sensor N Blue Hb Motor
Module i i He Hall
(Default) .  Red . +5VDC Signal
\ I Black ov Cable
A
_ Vi .
> AUM6 Ll68 Shield »
= \ | — e
= | \
U 1 1 %
—_— 1 1
» = >
’ BS : ; K Z
< AUM6 .. N [ TL168/TL252/TL420 2
= 3
=
4
2 <

043 044



AUM &%

AUM2 /3 /4 /5 RFIBHIZEE

r‘:ﬁ:
=]
2]z}
i
22
3 MOTOR CABLE
% THERMAL SENSOR WIRE
= PIN |DESCRIPTION| NO FERRITE BEAD | FERRITE BEAD (KTYPE - PT100)
S - M1 YELLOW /GREY | YELLOW /GREY (J TYPE - THERMOSTAT )
- - M2 BLUE/ORANGE | BLUE/ORANGE
- - M3 RED / GREEN RED / GREEN \
w —
0 - PE YELLOW / GREEN | YELLOW / GREEN
a]
=l
B
£
B —
Ll * DEFAULT - FLYING LEADS
OPTION - DSUB 9 PINS ( MALE )
- HALL CABLE
=]
PIN [DESCRIPTION COLOR
2] 1 HA GREY
il 2 HB YELLOW
3 HC BLUE
) 4 5VDC RED
% 5 0VDC BLACK
Eg
il
%
7
qz
pAN
[=]
i)
iz
5
=
8l .
71 / \ ‘
41 S —
== YELLOW
—~— M1
GREY
[ ’
| ‘ORANGE
Motor Windings M2
| | BLUE
| |
I I rep
| ’GREEN Jr M3
SEMSOR Y TeRowN T T Ty
I BROWN/ELAE( | T2
BLACK | | T Drain
M otor CasingT \/ . Shield
,/\\ Grey Ha
s ! \\ Yellow Hb
all Sensor I I
(I\ggfdulle) i J‘ Blue ! Hc
ault)
L. Red +5VDC
\\ /l Black ov
Shield
>
ey
=3
o
2
w
<
w
~+
(]
3
w
045

Motor
Power
Cable

Motor
Hall
Signal
Cable

AUM6 R 5 B A $ £ E

W

Ferrite Bead

T ’I\D/Ié’-\L SENSOR WIRE
PE - THERMOSTAT

)

MOTOR POWER CABLE

AUM Z75|

SBoH

TN
oy

BTl | MHEkES

SaESm

* DEFAULT - FLYING LEADS
OPTION - DSUB 9 PINS ( MALE )

MOTOR CABLE
PIN |DESCRIPTION COLOR FERRITE BEAD
- M1 BLACK1 BLACK1
- M2 BLACK2 BLACK2
- M3 BLACK3 BLACK3
- PE YELLOW / GREEN | YELLOW / GREEN
HALL CABLE
PIN [DESCRIPTION COLOR
1 HA GREEN
2 HB YELLOW
3 HC GREY
4 +5VDC BROWN
5 0VDC WHITE
6 Tl PINK
7 T2 BLUE

[\

BLACK 1

MOTOR HALL SIGNAL CABLE

M1
I
I |
Il
Motor Windings [ ! BLACK 2 "o
[
| |
| | BLACK 3
— M3
I |
(I
i | | |Green / Yellow
Motor Casing | ] ‘ or
I \ Shield
v |
sensor /) -
- in o
’ \ Blue ! .
, l Green o
, | Yellow "
Hall Sensor 1 . I
Module — rey I e
(Default) Pt Brown o
\ White o
v Shield

= BRI

ity

“

> BT SO N

s
oy

Motor
Power
Cable

Motor
Hall

Signal
Cable

Akribis systems

046



